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Number of Questions : 21
Number of Questions to be attempted : 21

Section Marks : 25
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 233667462
Question Shuffling Allowed : No

Question Id : 23366711628 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions : No Question Pattern Type :
NonMatrix

Question Numbers : (1 to 5)
Question Label : Comprehension

Read the passage and answer questions based on the passage:
Moral education centres upon this conception of the school as a mode
of social life, that the best and the deepest moral training 1s precisely
that which one gets through having to enter into proper relations with
others in a unity of work and thought. The present educational
systems, so far as they destroy or neglect this unity, render it difficult
or impossible to get any genuine, regular moral training.

Sub questions

Question Number : 1 Question Id : 23366711629 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

According to the writer, the school 1s a form of

Options :

» individual existence

, « religious life
. « spiritual life
.« social life
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Question Number : 2 Question Id : 23366711630 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Moral training, according to the passage, effects
Options :
. »aunity of work and thought

, « entering into proper relations with oneself
, » the skills of work

, « the skills of thought

Question Number : 3 Question Id : 23366711631 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The writer’s attitude to the present education system can be described as
Options :

. »Critical

, « adulatory
, » defensive

., » iIndifferent

Question Number : 4 Question Id : 23366711632 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The central concern of the passage 1s
Options :

.« spiritual education / spiritual training
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, « work education / work training
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. » moral education / moral training

, « thought education / thought training

Question Number : 5 Question Id : 23366711633 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Find the word from the passage that 1s a synonym of accurate
?_pja)nception

, « Neglect

, » Precise

. » Genuine

Sub-Section Number : 2
Sub-Section Id : 233667463
Question Shuffling Allowed : Yes

Question Number : 6 Question Id : 23366711634 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Correct the underline word in the sentence below, by substituting with the correct word
[ pray for god to give me strength

Options :

., regarding

2. v 1O
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3 % Of

. » With

Question Number : 7 Question Id : 23366711635 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

I think he 1s honest man
Options :

)« dll
3_33'(]

, » no article

Question Number : 8 Question Id : 23366711636 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

This 1s car my friend bought last week
Options :

1.« the

23@31‘1

3. d

4+ » no article

Question Number : 9 Question Id : 23366711637 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
Indeed, I am not sure his success
Options :
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R4 Of

, » regarding

;. » about
4. 8 Off

Question Number : 10 Question Id : 23366711638 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

They saw him fell his horse
Options :
.« after

, « against
3 % Of

4. Off

Question Number : 11 Question Id : 23366711639 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The will meet again, to discuss the matter
Options :

1.« Comittee

» # Commitee
3 v Commuittee

4. #» Comitee
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Question Number : 12 Question Id : 23366711640 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The Cricket team are 1n a mood
Options :

.~ buoyant

, « buoyent
, « boyant

Question Number : 13 Question Id : 23366711641 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Had he studied hard, he passed

Options :
.« has

, «» had been
, v»would have

. » have been

Question Number : 14 Question Id : 23366711642 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

[ wish I her address

Options :

.« know
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, » have known

, » May know

. v Knew

Question Number : 15 Question Id : 23366711643 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Incredulous means

Options :

.« obliterate

, » Skeptical
. . practical

, » INsane

Question Number : 16 Question Id : 23366711644 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Precipitous means

Options :

., very steep

.. very deep
. « presumption

, « nascent
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Question Number : 17 Question Id : 23366711645 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

1s a synonym for ingenuous

Options :
, » Clever

, » Ingenious
; v honest

, » Indecent

Question Number : 18 Question Id : 23366711646 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Keenness 1s a synonym for
Options :
. . abjure

, » enigma
« skip

4 v ACUINCN

Question Number : 19 Question Id : 23366711647 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Invincible 1s an antonym for
Options :
_»conquerable
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,  transparent

, « f1asco

4 % 1nstil

Question Number : 20 Question Id : 23366711648 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Change the following into a simple sentence
He wanted to play with his friends and so he finished his home work quickly

Options :

.« As he wanted to play with his friends, he finished his homework quickly
, « So as to play with his friends, he finished his home work quickly
. » He wants to play with his friends and they he finished his home work quickly

, »In order to play with his friends, he finished his home work quickly

Question Number : 21 Question Id : 23366711649 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Change the following sentence into a complex sentence

“Despite several obstacles, she succeeded finally”
Options :
. In spite of several obstacles, she succeeded finally

, « Not withstanding several obstacles, she succeeded finally
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. » Though there were several obstacles, she succeeded finally

, « There were several obstacles and still she succeeded finally

Question Number : 22 Question Id : 23366711650 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Change the following sentence mto passive voice

“I saw him opening the door”
Options :

.. I'saw the door and he was opening it
, « Opening the door, he was seen by me
. » I saw the door being opened by him

, » He was seen by me while opening the door

Question Number : 23 Question Id : 23366711651 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Change the following into active voice

“I was kept waiting for two hours by him”
Options :

» I waited for two hours because of him

, » He kept me waiting for two hours

. « He 1s waiting for me for two hours
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, » | was waiting for two hours for him

Question Number : 24 Question Id : 23366711652 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Change the following into indirect speech
“I will bring my laptop tomorrow”, she said

Options :

.« She said she would bring my laptop the next day

, » She said that she would bring her laptop the next day
. » She said she will bring her laptop the next day

, « She said she would bring her laptop tomorrow

Question Number : 25 Question Id : 23366711653 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Change the following into direct speech:
“She said that she loved pizza so much”

Options :

.~ She said, “I love p1zza so much”
, « She says, “T love pizza so much”
. « She said, “T loved p1zza so much”

, « She says, “I loved pizza so much”
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General Knowledge

Section Id : 233667386
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 15
Number of Questions to be attempted : 15

Section Marks : 15
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 233667464
Question Shuffling Allowed : Yes

Question Number : 26 Question Id : 23366711654 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The primary function of the Election Commission of India is to:

Cfrv"f'(/(;‘:?[«zﬂ’rbi’}d J.JJL/‘J"“

Options :

Formation of laws /.

§ L

/oo
JL~ o’y
1. % -
Conducting elections

> o | L/L_Q[:L,,;J}

2.

Pass budgets

(f_/}};ll(j%

3. %
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Managing Parliament sessions

r{u/f":' L/U_/JJ.:"] .-b/ M:j{{;

Question Number : 27 Question Id : 23366711655 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The largest freshwater lake in India 1s:

/ & bii s (A
b 0 ot sl 2 3 3L 0 O

Vembanad Lake

d,af'%tfﬁf

Dal Lake

(}wftd'»

Waular Lake

y (kl,f)f)
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Chilika Lake
g i

Question Number : 28 Question Id : 23366711656 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The term "carbon footprint" refers to:

4.

h

/ s » 4
I . € | 2y O/
?4""/4—’ S ]
Options :

Growth of forests p

3 ) 3ot

1. ®

Water pollution levels

£y
g//‘/ ()))/}L/L}'E

Total greenhouse gas emlssmns
&1 J/u/u/ oY o)

Fuel efficiency of vehicles

. ; Y 1/
& //L/ Soyorzt o 0y iV

3.9
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Question Number : 29 Question Id : 23366711657 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

India’s first mission to study the Sun is:

o Loy e iy ColG e i, = o Ve

Aditya-L ]

~ A
Ll-/\u,?f

1.
Chandrayaan
b,
L Okl

Surya-NI1

LNT g

Vikram Lander

il

4. %

Question Number : 30 Question Id : 23366711658 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
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The 'Green Revolution' in India was mainly associated with:

W) ot o 5Lt A o ga IS

Options :

[rrigation reforms

<o a? | G:Jl; '
Industrial development
. G

Agricultural productivity

1. #

Syl S

3.¢

Environmental protection
s Uy Lo

Question Number : 31 Question Id : 23366711659 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
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Which of the following is not a fundamental right in the Indian Constitution?

. - . . . Y i ‘ )
gq:“(y"csﬂ.[f’u“ufff ol Le0d g S5 o

Opﬁmll;:ight to Equality

. 67 L/ &7 )"
Right to Property

. GOl

Right to Education

L

Right to Freedom

Jy 4 U‘)U’i

4.%

Question Number : 32 Question Id : 23366711660 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
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UNESCO stands for: &
/- g
P Y K

\

Options :

United Nations Educational, Scientific and Cultural Organization
i G 1 e @y 1
Universal Science and Culture Organization
LT Y L Jorn
>

United Nations Environmental, Scientific and Cultural Organization

1.¢
2. %

(Q:EJG‘;[jﬁ ») g,;f.L,, “ Uyl 6/0‘/,5:’ rlo

3. %
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Union of National Education, Science and Culture Organisation

d_’_ﬁ_dffq—wé;uj)}rujw frl'{v‘jd_;'

4.%

Question Number : 33 Question Id : 23366711661 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The Indian Parliament consists of:

it b gl g e
s c
ff (e @0 TS
Options :
Lok Sabha and President

ol 8] [V“/‘-*’/;’

1. %

Lok Sabha and Rajya Sabha
s
e L e
Lok Sabha, Rajya Sabha and President

ol 131 L s e
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Rajya Sabha and Supreme Court
'
Sofpr 1l et

Question Number : 34 Question Id : 23366711662 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The capital of Uttarakhand is: y,
/ et A o F g 17
s & Lo cuy LNV L
Mussoarie
. Y] b o
Nainital
Jhst
Dehradun
Sax i
. )2’ /[I)

Haridwar

R . A
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Question Number : 35 Question Id : 23366711663 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which Indian River is known as ‘Dakshina Ganga’?

/ , £ ~ .
Sl v ol L K/A/wﬁ v L5 Loy Volsx

Options :

Krishna
g /
1. % *

Godavari
78

2. (.;/ 4 F'Jj
Kaveri

. or¥

3.

Mahanadi
G Lf

4. % ¢

Question Number : 36 Question Id : 23366711664 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
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'One Earth, One Family, One Future' was the theme of which recent international summit held in India?

PRI c o0 o v i U/U[’-/"" U"/‘J"
duur (2 ot 0BGy o ] M{, fﬂxawu 2
(€

74

Options :

G7 Summit
! ks 76
SCO Summit
oMl g3l sl T
G20 Summit
Yol gl 206

BRICS Summit

P4
Y

1. %

Question Number : 37 Question Id : 23366711665 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
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The primary role of NITI Aayog 1S to:

&l

' -

Options :

Conduct elections
. sliesi .__.:L [s~]
Formul/ation of policiei and strategies
d:J.L;g/Jj d? /3] U}:“JE’
Collecting taxes .
L e

Enforcement of laws

2.¢

S v 0l

4. %

Question Number : 38 Question Id : 23366711666 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The first Indian woman to go into space was:
S0 Ol (ol QY il (g M2
s it 0 O by SO QY 2l o
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Options :

Sunita Williams

/'f:U G
l_ﬁ

Kalpana Chawla
N 9 ()y (:';L/
Ritu Karidhal
/ ~
N o
Tessy Thomas

- b
g o

2.¢

Question Number : 39 Question Id : 23366711667 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which country recently exited the European Union (Brexit)?

y " ' 4 Va
§ U o o ot o @ Y e Loy

Options :
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Germany

o

United Kingdom

!
G

Question Number : 40 Question Id : 23366711668 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

‘Mission Shakti’ was related to:

.

A
o & Yie g C@AE

.

Options :
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Women's empowerment

b Letl el

1

Anti-satellite missile test
= f oy b
2.¥ pf/f J’/"l 3 .
Cybersecurity program
% /
/ ¢ ) L
g a7
[ ///}J IS el
Skill development for youth

I < 7o | })
- A L ugls
G/ 3yl 092

—
4. %
Teaching Aptitude

Section Id : 233667387
Section Number : 3

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 10

Section Marks : 10
Maximum Instruction Time : 0
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Sub-Section Number :

1
Sub-Section Id :

233667465
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 23366711669 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The purpose of formative assessment is:

s 21 rv' M“Uﬁ 6 G'/U)/M/

Options :

To assign final grades

F o F .
J ! Ll ' ¥
2. & L) u:;[v -
e s 22
To evaluate teaching staff
L 05 bV L€ (v #

To improve learning while it is happening

Yot o AJ.L;.-L//«" /é_bl»“
3. 'hdjL/Oﬁ/l
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To promote students
sy o
A3l dor o U

Question Number : 42 Question Id : 23366711670 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which learning theory is associated with operant conditioning?

~ / el 7
“e a /.,. ’ A’ r iy i s
ét"ﬁ,,;g')ci’ _)/Uyﬂ/bvj o «:’)JB/M L &y

Piaget’s theory
2
- U,JJ/:/
] % O//jl/:b/ = =0
Skinner’s theory

C;v/)fc;/_,é

Maslow’s theory

g
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Gardner’s theory
; AL
(//ﬁé’ P2/

Question Number : 43 Question Id : 23366711671 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

A democratic classroom environment encourages:

L/J/'rwﬂ 5/"JJ(J}L L/_,g,ﬁl]/—' 0‘/},‘! ,Arr

Options :
Authoritarian discipline

. B d
Y2 4 f[u ,f‘/v' r
Passive learners

3, Aﬂ:‘-‘/"" dbs s

1. %
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Student participation and dialogue

. 7
LA 2 L

Teacher-centred teaching

/‘,rlvfg}//;oi{»'/

Question Number : 44 Question Id : 23366711672 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which one is an example of intrinsic motivation?

J{Mdu /'al L2 guﬂbdﬂﬂf

Prize for winning

1. %
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Fear of punishment
o o U
Desire to learn
‘ . £ &
sl 8 L8k
Parental pressure

)
50> Ver??

3.¢

Question Number : 45 Question Id : 23366711673 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

A teacher using Bloom’s Taxonomy should aim at which higher-order skill?

- ' ¥ & . i
dLJ/\: Sl 9e L/)L:‘Jf éjj Lf/ldb:_/\ Lf(f/{“/?/) dr)‘j’
Remcmbering facts

L LVl

1. %
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Applying definitions
LY Sy ot
Ly Ju o™
Creating new knowledge

(; f'1 (L; L}».
3. / 4‘; 3
Understanding rules
o

angte;

Question Number : 46 Question Id : 23366711674 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

In pedagogy, ‘feedback’ helps:

2. %

4.%

= P v -
fé}’lf;l/)/f‘ 5)'0“] Jf"j’f Y ol

Options :

Punish students

Dl g b

1. ® —
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Modify teaching strategies
v f

p
i ol b
| Give homework

Lo a2 (2
Mark attendance

: o
L)y ol 5 o 2b

Question Number : 47 Question Id : 23366711675 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which among these promotes inclusive education?

/ |
« 1 ' r i (:)[
2 e 3 gl o of 2o
Segregated classrooms

A4

N A
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Fixed curriculum

s o)

Adaptive teaching methods
L )l Jb

Competitive grouping

e
b 020 R

2. ®

3.9

4.%

Question Number : 48 Question Id : 23366711676 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which is a barrier to effective classroom communication?

¥ o
& $ - % ]
§ DNy W LDML,A/T/}/ (i "‘p[‘o/“)
Options :
Use of visual aids

(}QJ_/’ b/f_';zu’:’c}f’./

1. ®
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Clear articulation

% U 25

Language mismatch

) U:f’:"ﬁw 02"6)‘7/'

Active listening
baw les

Question Number : 49 Question Id : 23366711677 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

A good teacher evaluates students by:

/
?c’{’/rl/Z//bu/f ({;{?a’/zj,}fu‘»“la sl Lf”f’f

f

Options :
Comparing them with others

s 7. )
L/,;,/l),. L/L-)’Jij By

1. ®
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Judging their behaviour

LI 2wl Yz Lor
[dentifying strengths and weaknesses
y {y%:NL‘ J/:)};//)/'f)/ IR

[gnoring slow learners
/
i & L 5t / , . -

Question Number : 50 Question Id : 23366711678 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Effective teaching is primarily about:

- . =
‘{’UZ""""/(.("*’”J"/)J Y ol © Y

Completing the syllabus

b gk f o
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Giving maximum homework

. Les 3)s Col ool o> b

2

Enhancing understanding and engagement

bl i ) B (]

Following textbooks strictly

3.

. T
Cigg o & (57 s dglw

4.

Physics Urdu
Section Id : 233667388
Section Number : 4
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 50
Number of Questions to be attempted : 50
Section Marks : 50
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 233667466
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 23366711679 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
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Rutherford’s scattering formula is applicable for
: =3t/ L 4 0
. &((J}', jﬂ 2 CL/(}”JF_QJWCQLMM )JJ}JQJ)J
Options :
Strong nuclear interactions

o be W U

Low energy gamma rays

O L L1305
Elastic collisions between neutrons
i M}‘Q ()_{,1/'/)2/(_3 J/f’—-?_”/
Scattering of alpha particles by heavy nuclei

Pl B#Auudyw%M‘

3.8

4.

Question Number : 52 Question Id : 23366711680 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
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A gyroscope resists changes in orientation due to
/ :
i c.oto v )9 p A ]
9, MJj/uJ (2D St bt AT 3 = Lt g

Options :

Linear acceleration

£ o lsh”

Conservation of angular momentum

s T SIS
S e br) 0

2.

High angular acceleration

& )+
éf/\uld}uud“

3.8

Friction

Question Number : 53 Question Id : 23366711681 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
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Euler’s equations describe the rotation of a rigid body about

Options :

Principal axes of the body

y P 1 F d/("?

Axes fixed in space

/;/é;fdfi‘)izﬁb

2. %

Arbitrary axes
y };‘U/ SRS
Axes passing through the center of mass

/IJ}]Q _Jz:i/uJ = /J/"A V/u/J

3.8

Question Number : 54 Question Id : 23366711682 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
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The orbit of a planet under a central force is generally

: ; 7

/ =~ /’ / ') < i ~ - /

NSB __/(”fuw)jtéo/ LM'-,#’/J’L/:’_JL sk (R T
Circular only

Gaph 5o

Parabolic .
x a g

Elliptical
5, e
Spiral
D
4% .

Question Number : 55 Question Id : 23366711683 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The sensation of weightlessness occurs in a satellite because

/i"%”U/FQ(Vﬂ’UJW’VQJJ.{_wﬁf Ahaas

Options :
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There is no gravity in space

Gy o So3eph s U

1. ®

Gravity is balanced by centrifugal force
A uﬁ"'}} bf\ﬂbéuj’/"_/}{’/
LAY ) D

The satellite and the object inside are in free fall

§ 7
AL A f)J/QdL))J))D-”’d\ ISy U‘d //uuuw}))l/&/tw«

3.9

The satellite moves with the speed of light

e byl g Uy d Y sl

Question Number : 56 Question Id : 23366711684 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
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The frame of reference that is considered valid in both Galilean and Einstein’s theories is

. PO A . - b
utﬁbéfLﬂuyz)q_ﬁ:’uﬂuﬂd-;fa?(E/d;m/
Qe e~ &TL“\?L,_‘;"/ w2

Options :
Accelerated frame

B
Inertial frame

(ol 4 PARE

2. ¢

Rotating frame o U
(o G
Non-inertial frame

(fﬁ/}a))fyff

4.%

Question Number : 57 Question Id : 23366711685 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
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The condition for maximum power transfer in a forced oscillator is when

1 e voe //. o€
u&:ﬂ.u-&»ﬁwjﬁz’iﬁwd@%@vﬁ”wfﬂ'@ﬁ

Options :

Damping is zero
L 6 ¥
1% g yi_/w /_U

Driving frequency equals natural frequency
/ [ P = 77 'y

K (£ylur X pn) (JZ’J' ))\}Jp_)}"ﬁ

Driving force is constant

e e
: (—

3. % ) d\‘ é )?J dw ‘97 J}‘ﬂ

System is underdamped

Question Number : 58 Question Id : 23366711686 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
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The sharpness of resonance is described by

/ ' ’ /"‘ /
Ce Kol (5 4% cgbz,dcfj/
p mflii:me period

o)) Lo
Relaxation time

1 o (@] _—
) % A L"VP'J/*""J}

Quality factor
dﬁ (& 4 ) e e

Damping coefficient

» /\_{”/ﬂd/‘y

3.9

Question Number : 59 Question Id : 23366711687 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
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The coupling in oscillators introduce

/e Sar e L |
he_gt’}r-fﬂ et T S
Opﬁoifo change in motion

. €« g

Damping

-

o G

Additional restoring forces
4 N ' '
3 s ‘)}(2 u' (_? l-/ﬁ I
[nertia

4. % /))/2 ’

Question Number : 60 Question Id : 23366711688 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
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Which of the following devices is commonly used to produce ultrasonic waves?

L;a)
Sl blhw euﬁp

Options :

Diode

) L

531
Piezoelectric crystal

2.¢¥

Thermocouple
3. 08 L_,:l:,\.yf,’/g
4. % LED

Question Number : 61 Question Id : 23366711689 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
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In a Michelson Interferometer, a change in the optical path length of one arm by A/2

(where A is the wavelength of light used) results in

Qb 3wty st 8 B Loy s s g8 Gt bl L
—ﬁ(‘/jjwwﬂwuvw Ap "
C TS Voot S S A 0 &2)
™ Nogbimge in theinterféceros padiern
o EF P S5
A shift of one fringe in the interference pattern

[ 7 Y ) ‘].h
Yl € § ) OF s

2. ¢

A shift of half a fringe in the interference pattern

S K EJpo (e s3> 11
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The disappearance of all fringes
YT § T

Question Number : 62 Question Id : 23366711690 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Newton'’s rings are circular in shape because

: T
n o - v
5 S~ 2. (39‘2(5__9955 c}{"“’g/ﬁ-)y—g-?i QJL?_"’
Options :
The lens used is convex

/ i
P Uy P J(ew |

Light source is circular ; :
2 it S
o Uy h Bl Vsl
The shape of air film is symmetrical about the point of contact

o By FRaa i & fE A6

The wavelength of light is constant

; aTUJ{' W{;ﬁ (:ij/ﬂw;,l
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Question Number : 63 Question Id : 23366711691 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

When white light is incident on a diffraction grating, the light that will be deviated
more from central image will be

f o S
C/df«U’auU/u”’ Adbﬁlf’c—f/ﬁwo) /cf_dL_«ﬁG/J/

Optlons
Yellow -
. D /I ]
Violet -
Indigo - F
N },/
3 % - L
Red -

Question Number : 64 Question Id : 23366711692 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
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Resolving power of a grating is

_ :uuuL/J/WB/’\’“’/

Directly proportional to N

5 N Gt o ltis D
Inversely proportional to N

SN o Gt U;’uj)‘“’
Independent of N

.. 3 5 fl/‘“p /*’; 2 o

Directly proportional to N’

3 NYe, G e bar Dy

Question Number : 65 Question Id : 23366711693 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
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Brewster's law in terms of refractive index can be expressed as

Z/ju”u [oyL S MU,a/JC;&’JoLLQLA’JU)Z—"
- cz,LL;-Lu/-' b

Options :

x M =Sin(ip)
, » p=cos(ip)
5 » u=tan(ip)

Question Number : 66 Question Id : 23366711694 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The geometric shape of the wavefront that originates when a plane wave
passes through a convex lens is

¥ o )M’”wa
L;/aﬂ;fc:',d/u:&’f"’”uu cSG
dwuy@ﬂﬁ)ﬂ?u)uﬁdf
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converging spherical

» xS L

diverging spherical
w S S ¢
. I 39 o

plane
NS St

elliptical

Question Number : 67 Question Id : 23366711695 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Spherical aberration occurs because
" l

Options :
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Different colors of light focus at different points

)( ;,)JJ-' 2 ,/)’/V‘ ot

The lens surface is not spherical

it S 15
NI XA

Marginal and paraxial rays focus at different points

e S ) S0l d“/J/J’ I =7

Light is reflected instead of refracted

ngdby\)/xﬁcfu} JMW}J

Lo 17 Vo e

4. %

Question Number : 68 Question Id : 23366711696 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The basic principle behind optical fiber operation is

. A
) 6o Lo o 8 S I Y S s s
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.« Refraction L__pU’ﬂJ J
Total internal reflection ¥ L/;l_ll()}} ¢ 2o
Diffraction . }5) |

— A
Dispersion

2.

4. %

Question Number : 69 Question Id : 23366711697 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

A laser beam is highly coherent because

£ - 5 K }

All photons travel at the same speed
L, ["

~ O .%/J/a,u’cf‘ )Lu;/gv _.AJ)OJ’J Ey L€’

All photons have random phases

L)”.z.'i‘“ww &O/JJJLj)fL;\J
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The beam spreads out in all directions

" . _ r L;’_.__:{-" "*!”
o, G or ool

3. ®

The emitted photons are in phase

uﬂqfﬂ @uiwﬁtyalﬁpwfﬂr
—OE S

4.

Question Number : 70 Question Id : 23366711698 Question Type : MCQ Option Shuffling : No Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The device used to produce a hologram is:

WTMJu;fJuAAAa;)&ﬂp

Options :
Spectrometer -
7 e
1% AU’J}/JJ
Camera - .

. 0 i
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Laser -

Py

- } g
Microscope - u):(j Yy )/J:’U bﬂ
?

Question Number : 71 Question Id : 23366711699 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The root mean square speed of molecules of ideal gases at the same temperature are

355} u /,(_A,J cAMS)

Options :

The same )
5 ;
1. % é '!j\{’ Uw,!:_,
Inversely proportional to the square root of the molecular weight

-~
o 2 R A 505 b

2.
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Directly proportional to the molecular weight

Ci_("\-”ﬁﬂ JWLMJ/Z U/ﬁ"U{'L‘“

Inversely proportional to the molecular weight

i # 5
‘géﬂuﬁquﬂ’-‘pézo )?C/JLV"

4.%

Question Number : 72 Question Id : 23366711700 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The correct relation between the degrees of freedom ‘f and the ratio of specific heat * 77 is?

urs) ff}ﬂ(a:ﬂ«iuj{j‘p q)j/]/)' 5 ~7/ (j)')(
optin A
k=
o F T
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Question Number : 73 Question Id : 23366711701 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The internal energy of a gas will increase when it
n ) -~ : L r : ’ / / /
\_,vm&fo\a,ﬁ\_ﬂ)uw}d ) o/ d-f})))dw_{*’__.fi

Options :

Expands adiabatically
v
Expands isothermally
i s d
Y e 1 (z(‘i

Is compressed isothermally

2.8

/4 -
ek S dgly
[s compressed adiabatically
o pr_ly SINAL 0
e
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Question Number : 74 Question Id : 23366711702 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

A heat engine works between a source and a sink maintained at constant temperatures
Tiand T2. For the efficiency to be greatest

f(’/ /))-/ S L,uJ/;lg,f)wlu/Jd//yw1

)/’/‘/‘J B JNTT JJ/JJ)W;%G—)
o,:L/.-—_—-mo)Lg)u/,J)V Y
a. Tiand Tz should high —-Qf"‘T (fbfja/b()#’ ,J..f,,;, LJ'/‘C"’

Options :

Ty and T should high

133 : -
dlglyy b ) Ga ) T

1. ®

T, and T> should be low

'S
%%L‘ﬁ’/frz/)' Iy

T, should be high and T should be low

gy STo s 024/

3.9
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T should be low and T2 should be high

- il
e -Ugy 0oL To /J’,‘J ‘
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Question Number : 75 Question Id : 23366711703 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The Clausius-Clapeyron equation relates the change in

" ' o
\_ZJU/PQE/(JJ}?U‘”Q;}C}’) f&'jWQf/F_q?lL/ﬂ J{JJﬁU‘
P %4.@//

Options :
Temperature with volume

R

Pressure with temperature during phase transition

/i
. / ~"t — 4
WU Bles” 0, Lz nss Oha) L QaPS —

2.

Energy with entropy y »
ray r '
GBUY o G s aw
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Free energy with pressure

(_ZL)}));MW/J _5

Question Number : 76 Question Id : 23366711704 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

If H is the enthalpy, T is the temperature and S is the entropy, then Gibbs free energy is
defined as

~ o . /
Q_B)‘/\}'J] S/}| _J)/7/~7J) C\—'—;U;j(-&fuj’ H/J'
/"‘ = 74 ﬂ
Z)W'JJQ)JGUJJ' g

Options :

v H=TS
,» UTPV
.« U=TS
. A+PV

Question Number : 77 Question Id : 23366711705 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
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Which of the following gases shows heating instead of cooling during Joule-Thomson
expansion at room temperature?

¥ Wuwuﬂf@ﬂfd )23 5 oS0 S - dV/’U"‘”/f
== 7 -

s Ci((_JL?}"Cr‘/ ul

Options :
r g
-, Oxygen uf‘f_"d i
: ' P 4 U
_, Nitrogen N 2N
: i lj
3.¢Hydrogen Vs J AL Y

Carbon dioxide. Ajij/fr’(é ) ,é'uJ/ K

4. ®

Question Number : 78 Question Id : 23366711706 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Adiabatic dcmagnetlzatlon works on the principle of . 2
. ,J HOYZYUA T

Options :

Joule heating = J’f,y L,()y

1. %
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. . - ) ¥ y
. Magnetic hysteresis A A @J:-(' Lo
Entropy change during magnetization

n b . 7 =
S o G2AM O oo Sluis

3.¢

Optical cooling

Question Number : 79 Question Id : 23366711707 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Planck's law is valid for

"
o Zaw g «'-A:Jf___ f:)'L)/ V_o U

Options :
Low temperature only .
a5t i
L * Zsal aerid g ¥
High frequency only

) sk,
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All temperatures and frequencies

> i o\ Sl oa2 )P ﬁf:('

3.¢

Only visible light

4.%

Question Number : 80 Question Id : 23366711708 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Wien’s displacement law gives the relationship between
L]
4 ' - o W - W p
S iy Bl s’ — WG S

Options :

Temperature and total energy radiated

. ) ] = ' & ,>
i(@mé@b)y,}/ﬁ\ IS 45
Wavelength of peak emission and temperature

o)l orrsd Js! ZJPQJ L/Z'/}’c"f/ﬂ"fy’c ‘

2.
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Emissivity and absorptivity
ENUVADTIR SRS

Frequency and temperature
~ \ 'n ]
Lo gliFell 3 j3 JAx

Question Number : 81 Question Id : 23366711709 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

A thin spherical shell of metal of has a radius of 0.25 metre and carries a charge of 0.2
micro-coulomb. The electric intensity at a point lying at 3.0metre from the centre of the

shell is

: g . - P,
) peaas o) st dy sad ARE
| ’ Py L% .0
P T s
" . el A2 b g Hdub
S @ 5 s 25

Options :

2. = 160 N/C
5.« 180 N/C
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+v 200 N/C

Question Number : 82 Question Id : 23366711710 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The dielectric constant of helium at 0°C and one atmospheric pressure is 1,000074. The
dipole moment induced in each helium atom when the gas is in an electric field of
intensity 8 x 10* V/m is

ool /, 000079, '_Lu,upd/d,” L:/r*“b/“’ )
4_,#\7@;) WUMU’/—' 4 a2 ex 10%v/m 4 u;"("“”

W
UJ)/]M}JJJG)S’C—BNMQM’/JY/" 2 (;‘?)ﬂ

IJ)(_%L{L/J’ /> Oc

Options :

1. ® 52 C'm
2. # 0.52 C"’m

;¢ X C-m

+%523x10° C-m

Question Number : 83 Question Id : 23366711711 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
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The divergence of the magnetic field is zero because

ﬁ%ﬂuﬂhaﬁ/}xﬂ_ﬁ_&}’ (;’OL/?@{/J’@M

Magnetic field lines begin and end on charges
g : A ( d . A ~
JE% Lg)’i'rsy)ﬂfw/j UsI b3 A ")JLFL;/,i,cF(gff Iry-

Magnetic field lines form closed loops

RSO I EY R WER YNITE VY

2.
Magnetic field is conservative

. - i ¥ ) ] a
3. % 1C'-Jf'.r MJ;J)}) u/}-}ﬁu'\‘ﬂbw

Magnetic monopoles exist

, / .
(e Sfb‘ci L\:‘}J"}Jl) 2—-U—ﬁ’~l'(>wo

Question Number : 84 Question Id : 23366711712 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
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The self-inductance of a coil is increased by y,

L] /
~w\%&%"4 RV ETIRSZRIZ BRIV gte

Decreasmg number of turns
/(Lues EENS e 7

Using a wooden core

o edie s ‘JUJ./})U,J/C;U/JJ

Increasing current

g,.l(e:' ,)/QJU’/"

1. ®

Increasing number of turns and using a soft iron core

Q{&AK/JL_/{JJ/JF MW'W),MJJJM

4.9 ﬁ&w‘g/d(ﬂ”’]t/))

Question Number : 85 Question Id : 23366711713 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

A high Q-factor implies
/
\
— sl SlE-Q A U
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Wide resonance curve

, s
b
3

- (ZJ,LA &:u

Large bandwidth

R T ¥

L (3-;-’&% (s

Sharp resonance with small energy loss

. o #
j,;//»aebuz/uuuﬁ 2 Gy

Strong damping

L e

Question Number : 86 Question Id : 23366711714 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Maxwell's wave equations are applicable to

/\JL)*“uuﬁd’D’u ‘:WJ)”@/J?)L’

Options :
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Only conductors

S
Only insulators
Only static fields
- A

2.8

Time-varying fields in free space

4. —

Question Number : 87 Question Id : 23366711715 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

If =50 and [g=5.1 mA, then Ip is

n Z
o e Zgu_ung:5*lVﬂA/)‘/L:5g s

1.¢ 0.1 mA
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2. % 005 mA
3.+ 0.2 mA

4 03 mA

Question Number : 88 Question Id : 23366711716 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

[n a Zener regulator, if load resistance decreases, the Zener current:

/
4 g ]
cz,\rw(j/rjﬂ;,d/u sr Sy ars 23

;J//M’)”L_JJ

Options :
Increases )

T
Decreases Y

» e Lui?

Remains constant

o ) S
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Drops to zero

o b7 s

Question Number : 89 Question Id : 23366711717 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

A Full Adder adds y

i
L hgpe S QE S

1-bit binary number only

/g_/p?cu s lyy o PV

Two inputs only Vs )

Three binary inputs (A, B, Carry-in)
; u Jo y G
L o LCany A, R ) prlydCG bt 121
Four bits at a time

; —" = \

4.%

Question Number : 90 Question Id : 23366711718 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
https://g01.digialm.com/CAE/viewHtmIPDFAction.action 74/119



6/7/25, 12:23 PM g01.digialm.com/CAE/viewHtmIPDFAction.action
Correct Marks : 1 Wrong Marks : 0

The Complement Law says

a/ " ¥
- G OYE

1 ® A"‘E: 0
, % A-A= A
v ATA =

4. ® A'Ezl

Question Number : 91 Question Id : 23366711719 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The selection rule for the change in the magnetic quantum number (Amy) for an electric
dipole transition is

: p .
o (B0 ) O UE )15 swb Lao L2 o pab Y 53
e DAV D 3 Y

Options :

L+ Ami=0

2« Ami==|

3. Amlzo,:t]
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5+ Ami=2

Question Number : 92 Question Id : 23366711720 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

In the Zeeman effect, the number of spectral lines observed depends on

])})Ju)/jﬁ(j/n}c’:’c:‘oﬂ(_/uﬂum IuﬂuJ

%*Lffﬂ *—**JLQ/J(‘/

Options :
The orbital angular momentum quantum number (1) of the electron.

I\ ’ £ , r /
gd»,lf-af'j’) E/Lu/»?),tfffk}ﬁ’ﬂl/ G o3 O ]
The spin quantum number (s) of the electron.

cs»uw;u,otﬁuez D140

The total angular momentum quantum number (j) of the electron.

A e
(S )};GJWL”LAJ/JWJBLU/MJ
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The magnetic quantum number (m) of the electron.

N
('Hﬂ)))vf(j/:’)uﬁ(_}":"}ﬁ(ﬂﬁ (:/U]/.U,

4.

Question Number : 93 Question Id : 23366711721 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The wavelength associated with an electron raised to 1600 V potential is

)’Q}LAJ /6(.‘.10\/ Z}PJ}}_,}JJJJJ" ‘Q;u,ug ()'/Juf

Options :

L% 31 A°
2%3.1 A°
v 031 A°
+#0.031 A°

Question Number : 94 Question Id : 23366711722 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
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Bohr’s complimentarity principle is the consequence of

/ r AT 4 ;

]yt X Casloo 57 ot >y 0 A5

- o

~

—
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Options :

Bohr hypothesis

~d 9 8 {’//J’d

1.8
de Broglie hypothesis
s [ ﬂ L

2.¢

Rutherford model
R TR
2 % )kﬁ,)/)lj_g},J

interference

. RESRY

Question Number : 95 Question Id : 23366711723 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
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Least energy of an electron moving in one dimensional potential box of width 0.05 nm 1S

/ / = ' = g |E / g i -
&OﬂJibQﬁ)éqwcﬁ)M@y&v{_yl e ki Qs 6 8nm
— Sbigyp s

v 150.95eV
2. % 5.09eV
5.« 1.50eV
+»0.015eV

Question Number : 96 Question Id : 23366711724 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Meson theory explains /
'aﬁaj}/:ﬂujdjﬂj/gJ[{ (4P .
Options :

The behavior of protons and electrons

o ri
Y Vol s il 129
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The force that holds the atomic nucleus together

A P L
v cﬁé‘ﬂ/i e Fp S e UL X SOy

The forces between quarks inside protons and neutrons

__)/)))fg ) ;52 lju:mu;”}f’ﬁf’/ﬂ o
L pdlibakO b,

3.8

The electromagnetic interactions between charged particles

- o _. P ; /r Vo [
ekl @f‘b&*’pt}/ﬁ Ol 272138 ,-l,/T/

Question Number : 97 Question Id : 23366711725 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The concept of "magic numbers" in nuclear physics refers to the number of nucleons that

¢ ~
SO OV siulaster e Db o 7
— % {tfl/g,ehblzvdfuﬂ@ o o SPv
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Options :

Are more stable due to closed shells

/," / » 1
Lo gl e r7 S DIE A

1.¢

Can exist in a free state

LSl Lo AL

Form isotopes with the greatest energy
2 = - ) 3 }
oSl sl QU Y e er
3.8 - : '
Are unstable and radioactive

or b },,(1{4:}/3}

4.%

Question Number : 98 Question Id : 23366711726 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Fullerenes are also known as
9

~ N ¥
LSS (V27— &
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Graphene
o 31 &
ot )

1. ®

Buckminster fullerenes

. § P 1
- L.}"":'_""/‘L)/\_)l)ﬁ_’l—./
Carbon nanotubes

Sl st

Graphite

Question Number : 99 Question Id : 23366711727 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

What happens to the magnetic field inside a superconductor when it exhibits the Meissner
effect?

1 /V & AT
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It is amplified
At AR RIS
. Jfﬂ o licad :
[t remains the same
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G S s Lo 1
It is expelled completely
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It fluctuates
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Question Number : 100 Question Id : 23366711728 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The Cooper pair is

hwgﬁéb'z/bwf “j).r/:;))/n

Options :
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Two positively charged ions bound together

/ ol 2
uﬂiﬁf—f)ﬁ/&ébﬂ/u/‘w)gd dbja_:wﬂz Pl VPN S

Two electrons with opposite spins and momentum that form a bound state

W1y 27 )y A JUL‘M;

— | / ‘;
Q"Jb/ﬁ’] ,[fk”f])‘yw hw&}f) M

2.¥
A pair of magnetic dipoles aligned in the same direction

b
ey | /u.anJuiJ U pb 23 B ass®

3.8

Two protons bonded together in a high-energy state
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Chemistry Urdu
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Question Number : 101 Question Id : 23366711729 Question Type : MCQ Option Shuffling : No Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

[socyanide test is useful for the identification of following functional group

( A & 4 ~ o ol 7 S ‘

Options :

Carbonyl /

. Nitro /

2.

~ Primary Amine /

3.
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: % A
Carboxylic acid / S WS

4.

Question Number : 102 Question Id : 23366711730 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Hydrogen Bonding is found in

n 3 -': ‘ . L =
t e —
Options :

_ Phenols / dLL/lJ

—

1.

. Ethers / W f

% Arylhalides /, jﬁj %G--ﬂ 7 JJ)T

3.

T >t~
Aldehydes /il 53

4,

Question Number : 103 Question Id : 23366711731 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
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Acetic anhydride does not react with

e

Options :

Ethanol / (_BU ZcZ;"U /
. Phenol / (_)\_M)

_ Aniline / 041,3 r

Dimethyl Aniline / (A dj’@ﬁé l;

4.

Question Number : 104 Question Id : 23366711732 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Erythrose and threose are

) P f
. (_))é o dﬂ%ﬁj}]ww)
Options : -
Diastereomers /
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c)%"_):’/:’*”’ -’ (:,;

1.
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Enantiomers / (s 3';1 Lo |

2. % =

Epimers / M# ,

3.8

S

Conformational isomers / b A f"d‘-’;f"’/ftoﬂ/
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Question Number : 105 Question Id : 23366711733 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Optically inactive amino acid is

L

~

i 2Pl Qs s o b o)
Asparitic acid / p':n-rJ:f__j’j A -
{

Alanine / Q}f/tﬂ |

2. % -
Tyrosine / Y

et g md
Glycine/ IS T

» P 3 NE
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Question Number : 106 Question Id : 23366711734 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

[odoform on heating with silver powder gives

¢ Ao T Z o g /
,dT-U/wf M\y/f/\; zyjo/,ﬁ}bw‘g fL)Sj;;JI)J_JWA J}L‘"”

Chloro methane /
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a

Ethylene/
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%

Ethane / (_'}*{E\—‘J 4

4. %

Question Number : 107 Question Id : 23366711735 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
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Me Mg Br on treatment with which of the following produce an asymmetric center compound

(o Joi 38 S5 e s g e v st - >
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Options :

Propionaldehyde /

v 1
- J

1L¢ /Lij l( UJJL:.){? )/“;‘

Acetone / -

'y acst ]

) CJ_or s

2-Butanone / ;
OB0su - 2

3.8

3-Pentanone / " Ao ,‘
O ;JLM; - 2

4.%

Question Number : 108 Question Id : 23366711736 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
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Which of the following will be able to produce n-propylamine on treatment with NaOH/Br

St Plhaqm S B2 Naot/Ben v pd s
— - ) ) C‘_J__L_ L{’/J/Mt;—

Options :

ke 4,
Propanamide / AN Lﬁ}{ﬂ)’/j

1. ®

1-Aminobutane / de)Afyiﬂf - |

2. %

y
Butanamide/ ):AJJ bb’i,sw

£

—_—

3.¢

% N, N-dipropyl amine / U:A_P/dé E)/; 3)S—N

4.

Question Number : 109 Question Id : 23366711737 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Benzoic acid on Ardent Eistert reaction gives

Jg(;/ﬁ:pﬁg_,f/g/\'ﬂ/j\_l/@(b/\bgl .;"_iJbeU Avdenk Evsteyl
e = SR L
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Options :

Benzoin / H!s /,J

1,2-Diphenyl ethane / UJ_E;JJ }d} L‘-"JL;) j‘" . # 1
Toluene / ol

, £
Phenyl acetic acid / b /,;.‘" _J,.-J},ﬂ] (jjl_uy

4.

Question Number : 110 Question Id : 23366711738 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

An organic compound with six carbons undergoes Cannizaro reaction. The structural formula is

c{w,\u)‘cﬁwL}’“Lﬂ Qaﬂﬂcgam)? w/ﬂdUﬁL_JLruU L/,Q?
— G L

2,2-dimethylpropanal / . ol (T
Al s dulemed s 2. 2

1. %

3,3-dimethylbutanal / Dy v ldo OIS 373

2. %
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2,3-dimethylbutanal / b v Jilfor DS g

3. %
] » - n A g
, v 2,2-dimethylbutanal / du Y% (j;\’l_[_.g:b@ R |-

Question Number : 111 Question Id : 23366711739 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The reagent used to convert propiophenone to propylbenzene is

L PR o O Sk a S Osndemtyart
| f _‘gfL"yV,JOZ/'qu["uM i
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,.« LIAlH4
. » IZn-Hg/HCl

.« NH2-NH>

Question Number : 112 Question Id : 23366711740 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
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In addition, reaction of aldehydes, the carbonyl carbon atom changes from
" 5 @ / S / e ~
T OYVIPUY D E 0Bl B 2T Lk 4 T
S R s

Options :

« Sp3 to sp?

, » Sp? to sp?
2

.« Sptosp

. «Sp*tosp

Question Number : 113 Question Id : 23366711741 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

IR absorption bands lie in the following range

0 t , g o)
ey @begubi'; ) %) 10 o Dpss P 3>

. +»1600-1650 cm-?
».+4000-600 cm-!
, » 1600-3500 cm™!
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s+ 3000-6000 cm?

Question Number : 114 Question Id : 23366711742 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Hydrogen bonding shifts the IR absorption frequencies to

i ~ yii T A A b ot
hc!f@u.bjjwwﬂm }()»ﬂ QBL;! IR f'uﬁfalu(_/ytul(

Options :

Low values /

1. ¢ )&:&] IXJ

. Higher values / ) L)oo b/j'

2.

No influence / /’L (;aﬂ;

3.

Greater Effect / JJ;P o) ka

4.%

Question Number : 115 Question Id : 23366711743 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Number of NMR signals expected for Methyal acetate are

)'zuﬂd x?/d‘lz"” {J;*"’ )«/NM& e ) 2,/1’:/;’%{“ (_S/jl_,f_{“ﬂ
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Options :
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Lv 2
2% 3
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Y

Question Number : 116 Question Id : 23366711744 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

- T transition is not found in which of the following

— tl;}jb%’))gﬁ Wmﬁ*/;}}g/(}f‘”fuﬁdf 4

Options :

Alkenes / el |

1.

_ Alcohols / Jf)d !

Azo compounds / = I ER /

3.8 [

/ .
_Carbonyl compounds / 7 Ld/(_jf’ 944

4.
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Question Number : 117 Question Id : 23366711745 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The essential constituent of Chlorophyll is

/ I
o w2 7 f Iy Sk

1. % Fe
, » Mg
;. « CO

;% Mn

Question Number : 118 Question Id : 23366711746 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which is the increasing bond length order for the following molecules?

o r e } / { / ] 1 /} Il
U%"“—”’.}Lﬂ)’}'uﬂ/:’ FGMG/@;};} L),MJ Ug/dj,S
fc:";J Cv
Options :
Lx N2t < Na= N7 < No¥
Lo N2 < N7 = No" < N2

s u N2 < N2> =Na" < N,
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= b 2
433N2+ < N:{ = NE_ <N2

Question Number : 119 Question Id : 23366711747 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The maximum magnetic moment is shown by the ion with electronic configuration

1.0 &, G "r’“ A /
o Jl9S 3(37)%(;<*J’Wugf(!ﬁr&fd:ffwd’ywﬂf
e bbuwau
308
2= 3d7

5« 3d°

s v 3d°

Question Number : 120 Question Id : 23366711748 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

In XeFzthe hybridization of Xe is

L —— bUSH I Xe OXe [,

Options :

L« Sp*
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v Sp°d
2 8 Sp3d2
.« Spd°

Question Number : 121 Question Id : 23366711749 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The molecule having 3-centre-2-electron bond is

. g P _h-\" . _;./’1 P_/fg(}p(ﬁhlc‘wa_g
B A ale Vv A0 N2 - 07 2

Diborane / , § b
F)D 3>

Borazole / (JJ) 'JJJ

1.¢

2. %

Boron trichloride / Mb,l/d),j SYE"

3.8
y ,,‘} Lo,
, » Boron trifluoride / ):in,’/ NEFRIN Ul})’

Question Number : 122 Question Id : 23366711750 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
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The primary and secondary valencies of Ag in [Ag(NH3)2]Cl

-—u";‘}j(jﬂﬁ/ﬂa’@ l;z/Aﬁ & [F‘SCNH?;),JLL

Options :

1% 0,3
2% 2,1
%1, 3
wvl, 2

Question Number : 123 Question Id : 23366711751 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The hybridization in Ni forming Ni(C0)4 is
: _ ) £ .
N — JUJ:!u_fONf(cO)s, D)y ez JHaw Ny

. v Sp3
.« dsp?
, « dsp3
.« d%sp’
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Question Number : 124 Question Id : 23366711752 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The oxidation state of Fe in Haemoglobin is

g k
o — e b S O (Pl

Options :
Lot 2

2.%+3

3.%'*'4
%0

Question Number : 125 Question Id : 23366711753 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The structure of Sulphate ion is (S042) ion is

\ P ) ) -
g = f_’»’}'—-—- arwa UU/ MJ@U%(SQQZ)

Linear / (_9~£’ o~
Tetrahedral / (jd“’)ﬁ'{

2.

. Square planar / (5 sl P
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%Trigonal bipyramidal / d/l‘f ]9} ;u)/},}\_w

4.

Question Number : 126 Question Id : 23366711754 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Effective Atomic Number (EAN) of Fe in Ka[Fe(CN)e] is

(AN 5,68~ 7 337 e I Ky, [?e(ff\:)q

L% 33
2% 34
3% 35
.v 36

Question Number : 127 Question Id : 23366711755 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

In EDTA titrations the indicator employed is

. A e
N L B R P O S AT = Y

Erichrome block-T /

1.¢

T - ;)/L}J fﬂ_,rli:;/ r
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Metal ion indicator / /_,kua/ou))/ ol 3

2. %

Methylorange /

Phenol Red / db v

Question Number : 128 Question Id : 23366711756 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

B2He with excess NH3 at higher temperature gives

Batpe= ) NI L Dale Az .
~ & L.;/-} o
BN,
, » B3N3He
; «» B3HsNH3

+ = B2He 2NH3

Question Number : 129 Question Id : 23366711757 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
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Which one of the following is a f block element

3 2 W ’
— DU L e >
Options : ( /‘ﬁ/vc )

1. ® Rh
,.v EU

3%CU

4_%Hg

Question Number : 130 Question Id : 23366711758 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The isomerism shown by the pair of compounds [Pt(NH3)4Cl2]Brz and [Pt(NH3)4Br2]Clz is

B He . I =
= ). J«-—’L«J/JLN (\NHg)\*B{aCJLJJ’ \ [ Pb(NH'_})L,(./’J Br,

Options :
Linkage isomerism /

Z, g
blth 2 el

1. ®
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lonisation isomers / y,
"

wﬂﬁ(; 9 J

2.

Coordination isomerism /
7
D LW
Geometrical isomers /

ufjb”ﬁu/ipg?

3. %

Question Number : 131 Question Id : 23366711759 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Of the following ions, which one has the highest magnetic moment?

/
/ 2 . » F
i ;”fj '@./JJL_‘,"’“G%LUJD & ;.lrfo_ﬁlub) Nodbs
?p:m;r‘l:nzﬂ‘
, « Co?*

3. % Cu?t

+ = Cu*
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Question Number : 132 Question Id : 23366711760 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The monomer used in the manufacture of PVCis

L
S el )W S &pve

Options :

Ethylene / UIJ_L;\"J_ \

1. ®

ap N
, « AcryloNitrile / d.{ /"’:yb 3~ ) |

> A
» Vinylchloride / ¥ })L/ '__S;"’ LL_!J

I "
. Acrylicacid / /\_"__,/_, _,M;/J l

Question Number : 133 Question Id : 23366711761 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The gas released when chloride salt treated with solid KzCrz07 and Conc.H2504

w2t oy 100 )5V K vy it Ss BEDN 2

n n . 7 / =
P‘GLL-)’-E?Z'J{—'/J’M m.u ﬂ_?EA d,oLoJ
Options :
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..« CrOClz
».v Cr02Clz
, » CrOCls
. » CrOsCls

Question Number : 134 Question Id : 23366711762 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The number of unpaired electrons in the complex ion [CoFs]* are

I PN A L
2% 0
v 4

4% 2

Question Number : 135 Question Id : 23366711763 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
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The Joule Thomson coefficient is zero at

. T P “ p g
o Bl &ﬁ/@dq@ﬁdﬁ:ﬂ,,ﬁw(édjﬁw

Critical Temperature
e Ls
Inversion Temperature

' & !
&de’j)‘-{ﬂ

2. ¢
Absolute Temperature
A o
A
. 4 = -
Below (°c
gx;ij = O'Dg
4. % ) 2

Question Number : 136 Question Id : 23366711764 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
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The Law which related the solubility of a gas with pressure is known as

-—

/e
~ i - ' / S
) () e {,J&@W/;;bpg'% Ly 7O o

Raoult’s law /
L O A5
Henry’s law /
L 1
Boyle’s law /
SELATAYLY
Newton's law /

Ol ey o~

Question Number : 137 Question Id : 23366711765 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
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The PH of 10-8M HCI solution is

I T XA NS TV RS RPN

Options :
L/

2_@/47

3 8 >7

+x 0

Question Number : 138 Question Id : 23366711766 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The standard electrode potential of Zn/Zn+2 and Cu/Cu2+ are -0.763 V and 0.337V
respectively. The standard EMF of the cell is

/9\ ‘—0-753\/0,'93 (5/‘{_”/1/2}/.J <) Lf‘(—‘"c‘“/ Co ™t //}[ = )Z‘ﬂ-—rz..
PRENT ~ A
.-—gg“f‘—-"lfmFC‘;Jli\wLaN(?hq(j- )‘frh;)ij_j_j 0“337\/

Options :

L% 0426V
2. % 0 V
1% -1.10V
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v 110V

Question Number : 139 Question Id : 23366711767 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The osmotic pressure of the equi-molar solutions of CéH120s, NaCl and BaClz will be in the
order

QK)}UJ@JW—UJ DMJZBACQ ! Nac,f; CoHiy o
— B Yo b S Sbas

Options :

..« CsH1206 > NaCl > BaClz
,.» NaCl > BaClz> CsH1206
;. » BaClz > NaCl > C¢H1206
+ » CeH1206 > BaClz > NaCl

Question Number : 140 Question Id : 23366711768 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

A colloidal system in which liquid dispersed in solid is

o by fae s PO (U (o

Options :

Emulsion / 3 2.3
1. ® /T_)JJ
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2_%501/ LJJMJ

Gel / e | >

3.

_Foam / Y\

4.

Question Number : 141 Question Id : 23366711769 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The units of first order rate constant are

Y - N /
e - ’ ¢
Options :

1% Miﬂtul
, » Mol lit-1 sec’!
5 W el

+vA&C

Question Number : 142 Question Id : 23366711770 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
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In a reaction ti/2 was inversely proportional to initial concentration of reactant. The order
of reaction is

3

s / - /! .
Qw2 dﬂl_;_Jf’CJ_f [j%f L_..LUJwL)_J)z)lJ < g}fb&bf -Jf:l
s =

/ S n A r
_ cL?tju,\_J/)L”dﬁbJuJJu___y._- 2 Iy

Options :
Zero / ‘
B /a/\ﬂ
First /
) 75
2. % £

Second /

v )/J) 'j>
Third / -
e A

Question Number : 143 Question Id : 23366711771 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
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Calculate the crystal field stabilization energy (CFSE) for the complex, [Rh(CN)6]*, where A.>P.

iRy g . Y ; _
/_i.ﬁypf,é’?_ S—%{\J‘—“)M;J)f‘—?/"il

Options :

% 0.4A,+ P
, % 2.4A, + 3P
4 '24&0 + 3P

4 % 040, +P

Question Number : 144 Question Id : 23366711772 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The material used in solar cells contains

e Qs 0y Sl U Tt G et
_ — & Uy v e
L« Cs

2.0 Sl

3.%Sn
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ax i

Question Number : 145 Question Id : 23366711773 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The relative lowering of vapour pressure of a solution of non-volatile substance is equal to

Y W - 2 o2 v . /
(sl b Gyt 5 e Ol S g
)/' — d/((_gg/}" ij

Options :

Mole fraction of solvent
7
/JJJ/ (;A ViV
Mole fraction of solute

,Aﬁié%iuﬁ‘

Weight percent of solute

\ £ /’ '
VIEOLE S o

1. ®
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Weight percent of solvent

Oy VS F

Question Number : 146 Question Id : 23366711774 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

When a gas reaction involves a decrease in the total number of moles, the equilibrium can

be shifted in the direction of higher yield by

Jhshw ook fUJU/Jf)ma‘/M&/Wdﬂwwr’ A
- wé’”"/d’wy(—’”’wv«f—/(f

Options :

.« Decreasing the pressure

i C s 9L s
, » Increasing the pressure PR

// ~ ./)
. Increasing the temperature ) Ubff _)JLJ’J

/) &= ) - /s
. « decreasing the temperature - | !,é R }7 /\] &

Question Number : 147 Question Id : 23366711775 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
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0.5 moles of Na2COz is present in 500 mL of its solution. Normality is

W e /J”o e D ordsle N“?-fcﬂzfjdf’boﬁ

fo“ — (Nomels )mJJU )2 JM "‘:"-’

Options :

% 0.8
, %16
;% 0.32
sv 2

Question Number : 148 Question Id : 23366711776 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Concentration unit independent of temperature would be

S S, g -

Molarity / Ly

1. %
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Molality / L

2.

Normality / 5,4; b S0

3%

Molarity & Normality

. :“*; U d 10 & ;f’j -

4.

Question Number : 149 Question Id : 23366711777 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The reaction of bromine with 2-pentene is

~ : &
@ft Dﬂ{___. dﬁ[}q_j(,/cfﬂ)ﬂc‘“ U“;"{) -~ 2

Electrophilic substitution
7 A
SAF S g A

Nucleophilic substitution

/o ¢
dﬂQJAJ)”’*MyY

1. ®

2. %
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Nucleophilic addition

RS e

Electrophilic addition J

,L/
y\:ﬂuaz._Jlf;/U1

4.

Question Number : 150 Question Id : 23366711778 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following molecule has zero dipole moment

’ be 2 '
_ &C, [51%)%@?)}/)}41/00\{}’}}_) 3 AJ?l L"*”U"U"ng d:) >

=« CO
2. v CO2
; « NH3
, « H20

https://g01.digialm.com/CAE/viewHtmIPDFAction.action 119/119



